Triangle and Quadrilateral exercise 2
1. From diagram, ABCD is a trapezium, find
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i. length of AD, AD ®& &

ii. area of trapezium, K% A &A=

iii. perimeter of the whole diagram, X & & A&

2. From diagram, ABCD is a kite, <BAO=45 ° , <BCD=30 °, find

4B, ABCD & —R%#, <BAO=45°,<BCD=30 °.£

i.<OBC, #<OBC

ii. Given that OB=3cm, OC=7cm, find the area of kite ABCD

# OB=3cm, OC=7cm, K X% # ABCD # & #=
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Triangle and Quadrilateral exercise 2
3. Diagram shows a regular pentagon, find the value x

AFE2FEELN, Lx4IA

4 Diagram shows a rectangle, DC= 12cm, CB= 10cm, BQ =v'12cm, find the length of BS

B2 7L —~ANEF4, DC=12cm, CB= 10cm, BQ =V12cm, £ BS # &5
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5.From the diagram , the area of rectangle BCDE is 36¢m? find the length of AD

4@ FrF, %% BCDE &4 A& 36cm?, K AD 9K A

6.From the diagram, point E is the midpoint of CD, <ABE= <AED=<AEC=90 °, BC=BD=10cm, CD=12cm,
AB=2BE, find the length of BE and AE.

LEE, 24 E $4ACDEGF S, <ABE=<AED=<AEC=90 °, BC=BD=10cm, CD=12cm, AB=2BE, X BE
4o AE ®K A&,
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Triangle and Quadrilateral exercise 2
7.From the diagram 4= &,

i. Prove A ABE and AACD is congruent triangle

+E %A ABE #eAACDR A0 4% = & 7

ii. Find the length of DF

£ DF &5

8.From the diagram, area of ACD is 72c¢m? find

4B, ACD ®#9 &4 4 72cm? K

7
b eva

i. Area of triangle ABE, AABE 9 & #2

ii. Area of triangle BEC, ABEC 9 & #=
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Triangle and Quadrilateral exercise 2
9.From the diagram, PQRS is a parallelogram, ABziPQ, area of triangle ABS is 144cm?, find area of PQRS

4o @ # %, PQRS & F Tl A, AB=_PQ, 4= FAABS ®# % 144cm? K PQRS ) H#
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10.Diagram shows a kite, calculate the value of x, y and z

AFEZF—NAEH, Lxyiz il
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11. A rhombus of perimeter 40cm and has a diagonal of 16cm, find its area

— % At AL RE A0cm, K P st A 4K 16cm, K @A

12. In diagram, ABCD is a parallelogram with area 24cm? and ADE is a straight line. Calculate area of trapezium
ABCE.

4e®, ABCD AANFiTwl #, H &R 24cm?4e ADE £ —4 A%, £#% ABCE # &4
¢ )
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Triangle and Quadrilateral exercise 2
13. Base on the diagram, find 4= @, £
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i. perimeter of the diagram & & &K

ii. area of the diagram & 7 & #%

14. Find the value of x, £ x {4
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15.Diagram shows a cuboid where AB=6cm, AD=3cm and DH=2cm, find the length of EG an AG.
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B ¥t 5 — E 771'4;#‘\ AB=6cm, AD=3cm #¢ DH=2cm, % EG 4= AG & &
- . e

16. In the diagram, ABAE is a right-angled triangle, BC//AD, given the area of AECD is 195¢m? find the length of
AE.

4B Ftw, ABAE A— A A=AA, BC/AD, 2% AECD # &4 A& 195cm?, K AE K &

b S R
) 7
\{CM \
L eem N\
N7 b

The Classroom Learning Academy




Triangle and Quadrilateral exercise 2
17. In the diagram, AB//CD, AE=4cm, BE=5c¢m,ED=6cm. Find the length of CE.

4o B &, AB//CD, AE=4cm, BE=5cm,ED=6cm. £ CE €& &
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18. In the diagram, AAPQ is similar to AACB. Find the length of PQ and PB.

4o B At 7, AAPQ Aa4%-F AACB, £ PQ 4= PB €& A&
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19. In diagram, DE//BC, AD:DB=2:1, A
Ho B Pﬁ'ﬁﬁ DE//BC, AD:DB:z;L /\,\1\
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i. Prove AADE AABC, X728 AADE AABC D/{—LAF;“:;’\‘\'
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ii. Find DE:BC, s DE:BC

iii. If area of AABC is 36¢m? find area of AABE, # AABC # & #= & 36cm?,
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